ot gt &1 =0 16
few 7= 322(EU) 2

] r 2]
3 S W W 25 T 26 FAE FT
o v & f P o 37 FES

129  322(EU) o v

2022 iv) SWH @

WA
Y : dF "o 15 e ) ( t£u1'r$ : 70 Instructions :
Sz ;YR ¥ 15 e TR Bl A 9e ) All questions are compulsory.
% for Fffea & o i) Question Nos. 1 to 8 are Multiple

Choice Type. Question Nos. 9 to 16
are Very Short Answer Type to be
answered in about 20 words each.

Note : First 15 minutes are allotted for the
candidates to read the question

paper. Question Nos. 17 to 22 are Short
39T Answer Type to be answered in
¢ about 50 words cach and Question
. it AHa €1
1) R € . Nos. 23 and 24 arc Long Answer
i) W e 1§ 8 dF ag—ﬁﬁaﬂu gl U= Type 10 be answered in about 150
q& 9 g 16 O afa oY IaNg %' fTeRT words each. Question Nqs. 25 and
. 3 . 26 arc map rclated questions.
Tedeh I T QF) vl H, U He 17 | iii} Marks allotted to all the questions
20 7% @Y I &, H T-H I S are mentioned against them,
0  F ol T 9 53 T 24 R iv) II]L_l:;t;ite y]{(:-ur answers  with
) _ . suitable sketch maps and
AT &, T U® I AT 150 vt diagrams. ps an
77 * kY Tu .
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| © W’ a) 759 ° SEE
1. TelciEs fagmt 4 4 e safwamer &) 5. Wﬁﬁ@m%ﬁ?ﬁ%:‘ C
wmﬁﬁm? 1 T TR affe T S
a7) fafew TR §) WA &) TN |
: @) SWWE %) ofgeg &t | ]
KR ‘ Fam & fow wieg
| 6 W w1 PR TR 6
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| 7. frefafes § 9 -
3. Frffad @ s G P8 o @ g g el
. TR A E 2
o K AN W F) gy gy
Jq) G 3) fafEm 1 ORI : | 1

" 4877 *xY | Turn over 4877 xY

Previous Pathshala




S ' 322(EU)
fFfeigd § § #19 TRE # gnE T8
€2

A) Ao S
W) o B
q) e
?) I S G | 1

Write the correct answers of the following

questions in your answer-book :

Who amongst the following scholars

1.

presented the concept of neo-

determinism 7

a)  Griffith Taylor

by E.C.Semple

c) Jean Brunhes

d) Vidaldela Blache. 1
9. The largest continent according to the

population size is

a) Afz:ica

b) North America

c) Asia

d) Europe. 1

4877 A kY [ Turn over

322(EU)

3.

Previous Pathshal3877

6
Which one of the following is not a

primary activity ?

a) Hunting

b)  Agriculture

c) Mining

d) Manufacturing. 1

Which one of the following tYypes of

economic activities dominates in all the

rural settlements ?

Primary b) Secondary
cj Tertiary  d) Quaternary. 1
in which of the following states of India

a)

is the density of population the
highest ?

a) Kerala

b) Bihar

c) Uttar Pradesh

d) ~West Bengal. 1

Bokaro city of India is famous for which
one of the following industries ?

a) Cement industry

b)  Cotton Textile industry

c) Iron and steel industry

d)  Sugar industry. : 1
* kY
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Through which of the following states of

|

India, Indira Gandhi canal passes ?

a) Rajasthan

b) Madhya Pradesh

c}  Uttar Pradesh .

d}  Gujarat. 1
8.  Which one of the following is not a

problem of urbanization ?

a) Slum area

b)  Extensive agriculture

c) Industrialization

d)  Traffic problems. .o
[ aifq =g IWE U |
[ Very Short Answer Type Questions ]
9. ‘HHAF €EYA ¥ T ARTE € ? 2

9. What is meant by ‘Human Resource’? 2
10. fava & afus swaEn g fFR q S %

aH foE | 1+1
10. Write the names of any two countries of

the world having high population. 1+ 1

4877, . **xY [ Turn over

Previous Pathshala

322(EU)
|| e TE fEArEe ERICHRREELEES T
]. + 1
11. Differentiate  between primary ang
secondary activities. 1+
12. TRea aRadl ® g i) )
12. Define clustered settlements, )

13.

13.

14.

14.

15.

15,

16.

16

mm%ma@mﬁaﬁi‘aﬁmﬁm
YRI&I0T ST | )

Examine the characteristics of million
cities of Uttar Pradesh. 2

VEE F FUR W ORA" TR S @ TR
7 forvista sifeg | 2
Divide Indian towns into major types on
the basis of functions. 2

ARG | Ty 9fisg) | % TBRT 1 ol i

2
Describe the

. types of rural settlements in
India.

] 2

} :
Describe _ the methods of wate
¢onservation in India. :

4877

* kY
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[ Y I U |
[ Short Answer Type Questions ]
17. TATEFE dHEEN W RS H A

AT | 4
17. Describe the stages of demographic
transition. ‘ 4
18, YRA ¥ wzd foeTA % SRl w1 Iod
ifer | 4
18. Mention the causes of declining sex-ratio
in India. 4
19. fowrai= et & g sfemt = qgaet S
fererem wife | 4

19. Discuss the problems of urban
settlements in the developing countries. 4

20. RA ® HuEn gfg a faww w1 fFEe

HifeT | 242
20. Discuss the growth and distribution of
population in India. 2+ 2

21. 9RA H YZfeigy @Ol &1 a0F ®ifETr 4
21. Describe the petroleum resources of
India. 4
22. HEd I % U@ IU-&31 F1 Iov1 ST | 4
22, Mention the main sub-fields of human
geography. 4

4877 * Y
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23.

24.

[ Long AnsWer Type Questions |

FIAC | 5+3

Hyal
2 qrEfts aREdATel FECEl T ey
1 79 A S R HiiTT | 6
Describe the nature and scope of human
geography. 3+3
OR
“Human geography is the study of the
changing relationship between the
unresting man and the unstable earth.”

Examine this statement. 6

WRA H TeH SRadl H SHRel &1 S|

Tfed avH hifew | | 6
oAt

YETE 1 U ST oo v aror 8
TR S AR AT T e o secis

FI 2+4

[ Turn over Previous PathshalaqH?T * xY
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n4. Describe the problems of slum areas in

India with examples. 6
OR

Define migration and mention the causes
of migration from rural to urban areas in

India. _ 2+ 4
[ W & ]
25, w%_ﬁqnqmﬁaﬁmﬁqﬁgm
ﬁmﬁﬁaﬁﬁmﬁm’mwaﬁiﬁm;.
) TSN S A g el T %;

i) @A W F EIR SA T g e

+ +

+
Bybm ™ K3l B B

ifi) ig-oTeh eI HI U TE &
v) e G el T4 |
) AT 1 T S T T (A<

hryi= B Bab—

|

+

' 2

[%aaq&mﬁauﬁmﬁtﬁ%%qnﬁﬁw
25 & M W |

i) e FT ST g arl T H AW

gicted R

O SRS S

%1 71 i | 1
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Impaired candidates in
f Question No. 25 ]

' tate of the
i) Wnte the name gf the s e 1
minimum populaton density. |
n
Write the mname of a mal

metropolitan city at the bank olf

the place ©

i

Yamuna river.
iiij Write the name of one major iron-

ore producing area. 1
iv) Write the name of the state of

maximum population. 1
v) Write the name of one major sea-

port of Tamil Nadu. 1
[ FAfaR & |
favg ¥ feu MU TE-AEET § 39T wed 8N

fe=ftEs &l Efﬂ'f%u_ TE 375 AH ¥ T™IET ¢

i) Q??F‘-i O gad 3YF F=S66a I o9l

1.1

22

i) fava 4 ge9 ¥fvs o9e fOww TEeE
AT 2971 11
272

i) ¥qF T FEE B WE-TEA W OH

[
Mlp...-

322(EU)

i)

v)

14

) 2

e fges & wag Jgl A ;+1
2

[ #a= gfearfas wfenfaat & T w9 Wy

1)

11i)

1v)

V)

26 & W T |

ofern & wag ifud FAEE T 9
am fafgn 1
fva ® waq sfusk o9 fowme g

et <91 1 A feafEu | 1
FIE T s H O AR-TE sam &
UF W &7 &1 41 ferran | .
S < Uk TRl T (IR oA
ety | | )
WI%H%WE@_WW:{WW“

[ MAP WORK ]

Show the following by suitable symbols

In the given. outline map of world and
Write their names also :

1)

Tu ' 4877
| Turn over Previous Pathshala

Country with the largest population

In Asia. L
+
2 2

* kY
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Country with the highest value of

human development index in the

world. - ;

bt | s

One major area of iron and steel

industrv in U.S.A.

B |
b | =

One sea-port of Japan.

b |
B | o

The largest city of Great Brtain.

| R

-

b | —

[ Only for Visually Impaired candidates in

i)

4877

the place of Question No. 26 }
Write the rrame of the countryv with

the lai;gest population in Asia. 1

Write the name of the country with
the highest value of human

development index in the world. 1

Write the name of one major area of

iron and steel industry in U.S.A, 1

'Y [ Turn over

iv)

16
Write the name of one sea-port f

Japan. 1
Write the name of the largest city of

Great Britain. 1
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